m n “ IT® PATCHRUNNER/NETRUNNER Rack Top Troughs
Part Numbers:CRTW; WMPV45ERTW

INSTRUCTIONS CM305C

© Panduit Corp. 2007

Installation Instructions (CRTW):

Center rack top trough on the top of a standard 19” EIA rack. Align mounting holes of the trough and Mounting Bracket. Secure with (4)
#12-24 screws.

(4)#12-24 Screw / Rack Top Trough

ATCHRUNNE|
PAT P\( |
@ |

o —d
P —

A\

BAABALIBAAA I

VOATASATTAF A b AT VAT AR AAT

\

Trough slots allow securing of ladder rack directly
Mounting Bracke to the trough using J-Bolts

If your ladder is positioned above the rack
slots allow anchoring using up to 3/8” threaded

rod
For Instructions in Local Languages ® E-mail:
and Technical Support: n UI I cs@panduit.com
www.panduit.com/resources/install_maintain.asp Fax:
www.panduit.com (708) 444-6993

Page 1 of 2




m n “ IT® PATCHRUNNER/NETRUNNER Rack Top Troughs

INSTRUCTIONS CM305C

© Panduit Corp. 2007

Installation Instructions (WMPV45ERTW):

Center rack top trough on the top of a standard 19” EIA rack. Align mounting holes of the trough and Mounting Bracket. Secure with (4)
#12-24 screws.

Tie-Down slots provide access points for ties (4)#12-24 Screws
used to bundle routed cables together

Rack Top Trough
Front slots must be used when

mounting with WMPV* products.

NETRUNNER

<q

Rear slots must be
used when mounting
with NRV* products
(not shown).

R Y \
) we ve = wn\U =
\EElE =
/) " A \ A

Trough slots allow securing of ladder rack
directly to the trough using J-Bolts

If your ladder is positioned above the rack
slots allow anchoring using up to 3/8”
threaded rod

Mounting Bracket

For Instructions in Local Languages ® E-mail:
and Technical Support: n “I I cs@panduit.com
www.panduit.com/resources/install_maintain.asp Fax:

www.panduit.com (708) 444-6993

Page 2 of 2




	Installation Instructions (CRTW):
	Installation Instructions (WMPV45ERTW):



